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QUESTION 1

Which statement is true when defining an Include association?

A. The association from the child to the parent must be defined with the child in an editable state.

B. The association from the parent to the child must be defined with the parent in an editable state.

C. The association from the parent to the child must be defined with both the parent and the child in an editable state.
D. The association from the child to the parent must be defined with both the parent and the child in an editable state.

Correct Answer: B

QUESTION 2

Which statement is true about the Summary Columns section on the Order and Group tab of a query?
A. It is used with every field type.

B. It returns the records in a summary line instead of as individual records.

C. It sums any selected number field for each group type and/or for total records.

D. It allows the developer to type in a query description for other developers to preview

Correct Answer: C

QUESTION 3

When a business object (BO) is published, how can one tell that the publish process has been completed?
A. A pop-up message appears to confirm the BO publication.

B. The revised property is not grayed out in the Data Modeler.

C. All forms for this BO are automatically published with this BO.

D. A notification has been sent to the user that triggered the publish process.

Correct Answer: D

QUESTION 4

A change is made in a state transition configuration in Data Modeler but it has not carried over correctly at runtime.
Why?

A. The developer did not import the state transition in Data Modeler.
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B. The developer did not click Apply in the state transition properties.
C. The developer did not publish the form of the base business object (BO).
D. The developer did not make the change in the base BO in Data Modeler.

Correct Answer: B

QUESTION 5

Which workflow type can be called from a custom section action?
A. Subflow workflow

B. Synchronous workflow

C. Asynchronous workflow

D. Scheduled event workflow

Correct Answer: B
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